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1. EREEH 266, 507 0 266, 507
1. HEZEELH 3,818 3,818
2. R 146, 756 146, 756
WAHE A — 115, 933 115, 933
3. INEREFT 435, 261 38, 030 473, 291
1. FRE 330, 586 930 331,516
2. HE RIS 104, 675 37,100 141,775
4. PEREE 217,074 0 217,074
1. PR R 151, 780 151,780
2. BB IR 65, 294 65, 294
5. t=HEEE 8172, 664 12, 810 885, 474
1. B EREE 1,065 1,065
2. U\ 123, 836 3,410 127, 246
3. EAEE 71,007 71,007
4. NHESE % (RS EALE T 6, 268 6, 268
5. HOEH R 13,213 13,213
6. HOFEHEHFEE 29, 826 29, 826
7. [EBEA 1,070 1,070
8. LM E 247,729 247,729
9. MRt B 36, 959 36, 959
10. AL 22 47,022 47,022
11, b tg 224, 444 9, 400 233, 844
12. AR STV LA 2 70, 225 70, 225
6. PRIEKRTEE 176, 835 0 176, 835
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=y ) 2, 568, 341 50, 840 2,619, 181
(EREE AHER<)
11. S$EHEIBE (FERE%RD) (BLAT: )
5 g HIERTO T 54 I WEROHE
a b a+b
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INERE B 186,774 224,804 38,030 0 1,030 37,000
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HEHBEE 5 167,029 179,839 12,810 9,400 3,410




